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1. You are provided with : o 3

- Acid solution of H,X containing 0.06 moles in 1dm’, labeled solution A.

- Sodium hydroxide, solution B containing 4g/1.

- Phenolphthalein indicator.
You are required to determine the basicity of acid A.
Procedure
Fill the burette with acid, H,X solution A. Pipette 25¢cm” of sodium hydroxide solution B and transfer it into

a clean dry conical flask. Add 2 drops of phenolphthalein indicator. Titrate using the acid and record your

results in the table below. Repeat the titration to obtain three consistent titres. (4 marks )
[ 11 I
Final burette reading (cm”) [T
Initial burette reading (cm’) B f )
F; E) )
Volume of acid used (cm”) 240 b=
'ﬁ\ = |
(a) Determine the average volume of acid A used. A (1 mark )
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(b) Calculate the concentration of sodium hydroxide solution B in moles per litre
(Na=23,0=16,H=1) ( 2 marks )
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(¢ ) Calculate the moles of sodium hydroxide used. (2 marks )
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(d) Calculate the moles of acid, H,X used. ( 1 mark )
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(e) Determine the basicity of acid H,X. ) ( 1 mark )
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(f) Write a balanced chemical equation for the reaction. O Ak )
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2. You are provided with solid H.
a) Descrlbe the ap ﬁance of the solid Z ( 1 mark )

Chotlis. sihire- .

b) Carry out the tests below to identify the ions present in substance H. Fill your observations and
Inferences in the table below.

| Experiment | Observations j/ Inferences
| Scoop a spatula endful of solid H _-Cm; £ g,).u/ /& /\/ 0
into a boiling tube and heat gently | gn/ww / / ] - | %
i then strongly test for any gases — Blae [es po red Lred remems req 2
| produced O el st b c/éu?m ﬂ é £ ﬁ&.whxﬂ |
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. (i) Dissolve a spatula endful of & % ;0.,,;- d
' solid H in distilled water and stir. [Di S\ - : fonst | fxd™ T[ e fe 1
" Divide the solution into 3 portions [(Q indl P fw,t, [/ = Lo w?tt fmj ‘/éf,’
: ( 1 mark ) ( 1 mark )
| (15)13 To the 15; p;ortic;ntgdd 3 drops V\/o e te pﬂ; MWQ o ] |
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| arium nitrate solution ' | S& ,gf)%_(@_ -
__ ( 1 mark ) (lmark);‘[
'11i) To the 2nd portion add 3 . o2 e 7 g |
wops of lead (II) nitrate solution. B aliete / // A A;CO - & ){J i/ '
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ivi) To the 5" portion add 3 drops | j jlutz Solelits 21 -
- of dilute hydrochloric acid. - / / - /b 2
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3. You are provided with solid K. Carry out the tests below. Write your observations and

inferences in the spaces provide. /

rTE:que:rirnent Observations Inferences ]

Using a clean metallic spatula, b e W _(,.«ﬂf g f

heat about one third of solid K in a ngd ‘fﬂ / r& - cf SRR

Bunsen burner flame ﬁ ot - .
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Dissolve the remaining portion of - ' 5 @

solid K into about 2cm’ of ysdban e a % ﬂcj)w (¢ f‘%\»)

distilled water ﬂﬂ plakets & '

( 1 mark ) ( 1 mark )
Add two drops of bromine water. Ll Dopnae i 4[17~/ i
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